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PhYSiGS (Objective) (T'or All Sessions)

Note: Write Answers to the Questions on the objective answer shast provided. Four possible answars A, 8, G wid O t vaull
answer you consider correct, fill the corresponding circle A, B, C
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The example of mechanical wavas is: u)/ﬂ,-— /d -"}"‘9-—:?

(A Water waves iB) Radio waves (C) Infrared waves () Ultraviolet waves
Sound waves cannot travel through: '

(A Water iB) Air {C) Material medium {n)) Vacuum
Light is polarized by using:

{A) Sodium chioride iB) Optical fiber &) Dichroic su (v Plane glass

It becomes possible to send light to inaccessible place due to;

Y Coaxial cable ‘B) Optical fiber (9] Copper wire Glass wire
When hot and cold water are mi.ied, the entropy:

{A) Decreases B} Increases () Remains cpnstan D) N s zero
Force acting on the piston to move outward is: ?

{
The number of significant figures in 0, 0023 /\

C)
(A) 3 5 \/ 6
Number of colours used in proce:ss of colour prntipg fo produce the entire range of colours -

® 7 B
/™

(&) Intake stroke ‘B) Campress slroke Power strok (D) - \{\ strake

a8

If Ax = Ay, then the agigle betwden A and x — axis is:

(A)

(D) 90°

(A-ayp O @y
en body is said to be called moving with:
(C) Uniform velocity (D) Variable velacity
ccelerafion of the moving body is:
egalive (C) Maximum (D) Zero
ms™* has K.E equal to:

8J {C) 2J (D) 324

Apparent weight i fitt moving down with accelerationa = g is:

% B} Zero ©) W D) Infinity
s increased fcur times of the present, critical velocily ¥, becomes:
(E) V2 ¥y ©) 2¥, (D) o

Venturimeter is a device used i measure;

{A) Density of fluid {B) Speed of fluid < Pressure of fiuid (D) Viscosity of fluid

By increasing the mass of the ahject four fimes attached to a spring. Time period will become:

()  Same (B) o Twice (€ Three times {n)} Four times
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given in front of each question with Marker or Pen ink on the answer sheet provided.
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B (a) Whatis meant by ariificial aravity? Prove that j = )—'r Je
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2. Write shovt answess of sy 2iGHE paite free: e Toliowig: (Bx2=18)

o By

Wiiat are the dimensions =nd unils of gravitationa! consiant "G’ in the formuia F* = & -~
i = . - - . r-
i How many years are in 1 sacond? il Oefiie light year, What are units and dimensions of light year?
iv. Showthats = Vit -+~ ai? is dimensionally caireel,

Write: down the sieps for addition of vectors by reciangular component metl}uﬂ\\
vi. Is it possible to add & vector quantity (o & scalar quantity? Explain.
Ji. Can abody rotate about it canter of gravity under the action of its weight? \
viil.  An object is thrown vertically upward. Discuss ihe sign of acceleration due to gravi
ix.  Atwhat point or points in i3 pathi does a projectile has its minimum speed, it

«  Arubber ball and lead ball of same size are moving with same velocity. Whi

X.  Showthat{ = AP ¥i  Whyfog dcoplets appear to
3. Write short answers of 2y sight parls o e followin

i, Calculate the work done in ilo joules in liffinga mass o

i. A qgir drops a cup from a certain height, shich brea i
i, Describe the negative warl with an exanple?

v, When mud flies off the tyre of a moving By
vi. Ifapersonis falling in an eievator fraely. Ve
vii. Does frequency depeng/ohamplifude for har!

viii.  Describe two commol pherﬁ?mc\-:nz in which resonance plays an imj
ix. How long must & sigple pendulul be in order [0 have @ period 0 /
% How are beats use ;M:ing musl . & trough and node.
xil. What happens witefi a pebig is droppel inio a quiet pogg !
A Write short answers of ay dix parts frotsthe flfo (6x2=12)
ypiin how does It happen?
diffraction grating?

N,
relative o vilgoity, while the objectis in air.

um and why?

{8x2=16)
ight of 10m.
Fa

significance.

spraading over o wet fos{path ¢ o
ou manage to get more

pe?
feculg®n a gas is zero but the average of the square of velocities is not zers?
1o heat is fransferred fo or from the system bul the temperature of the system changes.
<7 decreases due fo heat enging? i, Define the 2 law of thermodynamics
GECTION-H
tiops. Each guestion caities wrual marks (Bx3=24)
5. (a) én of potential energy and kinetic energy for falling object when fiiction force is not considered,
(b i e betwesh two forces of equal magnitude when the magnitude of their resultant is also equal to the
nitude of either of these forces,

vili. Does entrop

Mote  Attem

lg

ib)  Aballis thrown with a speed of 30ms ™ In a direction 30° above the horizon. Determine the height to which & rises and
{ime of flight. . o
7.(a) Show that the product of ¢ross sectional area of fhe pipe and fluid speed at any point along the pipe is constant.
(b} 3364 of eneryy is required to meit g of ice 21 0°C. What is change in entropy of 30g of water as il is changed ta ice at
0°C by a refrigerator?
8.(a) Why simple pendulum is celled simpla? Also derve tha re
upon length and gravity.
(b)  Find the temperature at which the velosity of sound in airis |
9.{8) Whatis simple microscope” Calculate its magnifying power.
(b)  Sodium light (A = 589nm:) is incident normally o1 a grating having 3000 fines per centimeter. What is the

highest ofder of the spectrum obtained with this grating?
338l

lation for time period and discuss how ihe fime period depends

wo limes its velocity at 10°C.
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